CHEMISTRY

BOOKS - NTA MOCK TESTS

ORGANIC CHEMISTRY - SOME BASIC
PRINCIPLES AND TECHNIQUES TEST

Single Choice

1. The correct IUPAC name of the folllowing

hydrocarbon is


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Jtztg7Q0PyEv

A. 4- ethyl - 6 - methyl - 5 - propyloctance..

B. 3 - methyl - 4 -propyl -5- ethyloctane .

C. 5 - ethyl - 3-methyl - 4 - propyloctane..

D. 5 - ethyl - 4 - propyl -3- methyloctane..

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_Jtztg7Q0PyEv

2. The correct IUPAC name of the following

hydrocarbon is

A. 4,5 diisopropyl -3- methylheptane .

B. 3- methyl -4, 5- diisopropylheptane .


https://dl.doubtnut.com/l/_Jtztg7Q0PyEv
https://dl.doubtnut.com/l/_4gcTNJEe9c1P

C.5 - ethyl-4 - isopropyl - 3, 6 -

dimethylheptane .

D.3 - ethyl - 4 - isopropyl - 2,5-

dimethylheptane.

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_4gcTNJEe9c1P

W

What is the correct IUPAC name of above
compound ?

A.2 - hexen -5 - yne

B.4 - hexen -1-yne

C.5-hexyn -2 - ene

D.1-hexyn - 4-ene

Answer: B



https://dl.doubtnut.com/l/_bHA9SIbg994V

o View Text Solution

4.The correct structural formula of compound

1,3 - dimethylcyclohexene is

et


https://dl.doubtnut.com/l/_bHA9SIbg994V
https://dl.doubtnut.com/l/_ENmTl9lECXkm

, X

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_ENmTl9lECXkm

Which of the following is a correct name of

the above compound according to IUPAC

conventions ?

A. 1,4- dimethylcyclohexene

B. 2,3 dimethylcyclohexene


https://dl.doubtnut.com/l/_SWIC0WwvvEFW

C. 1,5 - dimethylcyclohexene

D. 1,6 dimethycyclohexene

Answer: D

o View Text Solution

6. A hydrocarbon has a molecular formula
C4Hg . Which of the class cannot have this

formula?

A. A cycloalkene


https://dl.doubtnut.com/l/_SWIC0WwvvEFW
https://dl.doubtnut.com/l/_qkozlh5tvv88

B. A bicycloalkane

C.Adiene

D. A bicycloalkene

Answer: D

o View Text Solution

7. The correct IUPAC name of the following

compound is


https://dl.doubtnut.com/l/_qkozlh5tvv88
https://dl.doubtnut.com/l/_CMAESc5MDwIe

A1 - ethy- 3-  isopropyl -5-

propylcyclohexane.

B. 1- propyl-3-isopropyl-5- ethylcyclohexane.

C. 3- ethyl- 5 -isopropylpropylcyclohexane.

D. 3-ethyl- 5- propyl isopropylcyclohexane.


https://dl.doubtnut.com/l/_CMAESc5MDwIe

Answer: A

o View Text Solution

8. The correct IUPAC name of the following

compound is

A. 1, 2-dimethylpropylcyclopropane.


https://dl.doubtnut.com/l/_CMAESc5MDwIe
https://dl.doubtnut.com/l/_HJVFBEtOgsBx

B. 2- cyclopropyl- 3- methylbutane.

C. 2- methyl- 3- cyclopropylbutane.

D. isopentylcyclopropane.

Answer: B

o View Text Solution

9. The correct IUPAC name of the compound

below is


https://dl.doubtnut.com/l/_HJVFBEtOgsBx
https://dl.doubtnut.com/l/_ga9er1QTfwzN

COOH

A. 3-ethyl-6-formylheptanoic acid

B. 3-ethyl-6-methyl-7-oxoheptanoic acid

C. 3-ethyl-6-methyl hepta n-7-oic acid

D. 5-ethyl-2-methyl-1-oxoheptanoic acid

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_ga9er1QTfwzN

10. Which of the following compounds cannot

have the condensed formula Cg H;;,0O?

A. An aldehyde

B. A ketone

C. An alkenol

D. A cyclic ketone

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_ga9er1QTfwzN
https://dl.doubtnut.com/l/_Ng1lSkV3tvIK

1. An organic comounds has molecular

formula CgH10O2. Which of the following

class of compounds cannot have this

molecular formula ?

A. An unsaturated acyclic carboxylic acid

B. A dialdehyde

C. Adiketone

D. An unsaturated, acyclic diol with one

double bond


https://dl.doubtnut.com/l/_tsvZ9rmQqBdo

Answer: D

o View Text Solution

12. Consider the following compound and its

name :
J —
4 L COOH

5
2-cyclohexenoic acid

Something wrong is there in the given name.


https://dl.doubtnut.com/l/_tsvZ9rmQqBdo
https://dl.doubtnut.com/l/_I4mZQzn1zEpu

What is the mistake in naming of above

compoud?

A. Numbering is done wrongly.

B. Position of double bond is not specified

in the name.

C. Position of double bond is not specified

in the name.

D. Position of -COOH is not specified in the

name.

Answer: D


https://dl.doubtnut.com/l/_I4mZQzn1zEpu

° View Text Solution

13. IUPAC name of the following compounds is

OH

Cl CN

A. 3-hyroxy-5-chlorobenzonitrile

B. 3-chloro-5-hydroxybenzonitrile


https://dl.doubtnut.com/l/_I4mZQzn1zEpu
https://dl.doubtnut.com/l/_8aqxjXeIPbop

C. 3-chloro-5-cyanophenol

D. 3-cyano-5-chlorophenol

Answer: B

° View Text Solution

Br SO,H

14. Cl

The compounds can be named according to


https://dl.doubtnut.com/l/_8aqxjXeIPbop
https://dl.doubtnut.com/l/_681yca46lQkG

IUPAC conventions as

A. Metachloro-metabromo benzene

sulphonic acid

B. Metabromo metachloro benzene

sulphonic acid

C. 3-bromo-5-chlorobenzene sulphonic acid

D. 5-bromo-3-chloro  benzene sulphonic

acid

Answer: C

I o View Text Solution


https://dl.doubtnut.com/l/_681yca46lQkG

15. IUPAC name of the following compounds is

COOH

A. 6 -ethyloctane -1, 4,8 - trioic acid .
B. 3 - ethyloctane - 1,5,8 - tricarboxylic acid
C. 3- carboxy- 5- ethyloctane- 4, 6 dioic acid.

D. 4-carboxy- 6- ethyloctane 3, 4- dioic acid.

Answer: B



https://dl.doubtnut.com/l/_681yca46lQkG
https://dl.doubtnut.com/l/_UiVy6lzi5zoy

[ ° View Text Solution

16. According to IUPAC convetion name of the

following compound is

Cl
COOC,Hs

C2Hs

A. Ethyl-3-chloro-5-ethylbenzoate

B. Ethyl-3-ethyl-5-chlorobenzoate


https://dl.doubtnut.com/l/_UiVy6lzi5zoy
https://dl.doubtnut.com/l/_7vX1v0xmaL4F

C. Metachloro-metaethyl ethylbenzoate

D. None of the above

Answer: A

o View Text Solution

17. What is the correct IUPAC name of the

following compounds ?


https://dl.doubtnut.com/l/_7vX1v0xmaL4F
https://dl.doubtnut.com/l/_9efu7WR79PnA

A. Bicyclooctane

B. Tricyclooctane

C. Bicyclo [3.2.1] octane

D. Bicyclo [1.2.3] octane

Answer: C

| oo


https://dl.doubtnut.com/l/_9efu7WR79PnA

| & View Text Solution

18. What is the IUPAC name of following

compounds ?

A. 1, 2-dimethylcyclopropylcyclohexane

B. 1, 2-dimethylspiro[2.5] octane


https://dl.doubtnut.com/l/_9efu7WR79PnA
https://dl.doubtnut.com/l/_qGrLK9Zn7Nok

C. 7, 8-dimethylspiro[5.2] octane

D. 1, 2-dimethyl bicyclo[5.2] octane

Answer: B

o View Text Solution

19. What is true about IUPAC naming of

organic compound ?

A.Two different compounds may have

same |[UPAC names.


https://dl.doubtnut.com/l/_qGrLK9Zn7Nok
https://dl.doubtnut.com/l/_gxKWGai2SrHD

B. Naming is done according to source of

occurrence of compounds.

C. Naming is done according to convention

rules laid by IUPAC.

D. None of these

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_gxKWGai2SrHD

20. Systematic nomenclature of

CH, s

A. 1-methylbicyclo ( 4. 1. 0) heptane.
B. 2-methylbicyclo ( 4. 1. 0) heptane.
C. 3-methylbicyclo ( 4. 1. 0) heptane.

D. 4-methylbicyclo ( 4. 1. 0) heptane.

Answer: D

I ° \iawr TavE CAaliikian


https://dl.doubtnut.com/l/_T9dVjhtHQB9h

L VIGYY IGAL JVIULIVII

21. Name of some compounds are given. Which

one is not correct in IUPAC system ?

A.CH, — CH — CH — CH,
| |

OH CH;s
B.CHs — CH — CH — CHj
| |
OH CH;

3 - methyl-2 butanol
C.CH3; - C =C - CH(CH3),

4 - methyl-2 pentyne


https://dl.doubtnut.com/l/_T9dVjhtHQB9h
https://dl.doubtnut.com/l/_XH0my6uWRwgc

>.CH; ~ CH, ~ O~ CH ~ CH
CH> CHs3

2 - ethyl -3- methyl - but - 1 ene

Answer: D

o View Text Solution

22. Which of the following contains isopropyl

group ?

A. 2,233 - tetramethypentane

B. 2 - methylpentane


https://dl.doubtnut.com/l/_XH0my6uWRwgc
https://dl.doubtnut.com/l/_qmv8jQjECSoN

C. 2,23 - trimethylpentane

D. 3,3 - dimethypentane

Answer: B

o View Text Solution

23. Which is not the correct nomenclature ?

A. Ethanedioic acid

B. 4- pentanone

C. pentanedial


https://dl.doubtnut.com/l/_qmv8jQjECSoN
https://dl.doubtnut.com/l/_wyYGxh6Skyjn

D. Pent-2- ene

Answer: B

o View Text Solution

24. 2233 - tetramethylbutane reacts wirh Cl,
such that one H - atom is replaced by Cl atom.

IUPAC name of the product obtained is

A. 2 - chloromethyl-2,2 3- tetrametylbutane

B.1-chloro-2,2,3,3 - tetramethylbutane


https://dl.doubtnut.com/l/_wyYGxh6Skyjn
https://dl.doubtnut.com/l/_Z91FIMCsdSJv

C. Both are acceptable

D. None is acceptable

Answer: B

o View Text Solution

25. PCI; causes cleavage of ether linkage
R-O-R forming RCl,RCl and POCI; .
CsH{,0 on reaction with PCI; forms 2 -

chloropropane and 1- chloroethane as main


https://dl.doubtnut.com/l/_Z91FIMCsdSJv
https://dl.doubtnut.com/l/_GWlDVqt9txub

compounds.

Thus Cs H150 is name as

A.1-ethoxypropane

B. 2- ethoxypropane

C.1-ethylpropane

D. 2- ethylpropane

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_GWlDVqt9txub

26. Following compound is named as

SH
OH

OH

A. 6 - mercaptocyclohex - 4- ene - 1,3- diol
B. 1-mercaptocyclohex-2-ene-4,6-diol
C. 1-mercaptocyclohex-5-ene-2,4-diol

D. 4 mercaptocyclohex-2-ene-1, 5-diol


https://dl.doubtnut.com/l/_CYTqi5fsp0SA

Answer: A

o View Text Solution

27.1UPAC name of the following compound is

A. 2 - methyl-1- ethylcyclohexane


https://dl.doubtnut.com/l/_CYTqi5fsp0SA
https://dl.doubtnut.com/l/_tVW4IMlEJAhu

B. 1- ethyl -2- methylcyclohexane

C. 6 - ethyl -1- methylcyclohexane

D. 1 - ethyl -6- methylcyclohexane

Answer: B

o View Text Solution

28. Number of primary secondary and tertiary

hydrogen in the following compound are


https://dl.doubtnut.com/l/_tVW4IMlEJAhu
https://dl.doubtnut.com/l/_x35QaRyI4RoO

respectively

OH

o

1° 2°
18 2
1° 2°
16 4
1° 2°
17 2
1° 2°
17

(0] o o

= oW N W N W NN W

N}

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_x35QaRyI4RoO

29. 3 - butenoic acid ( or but - 3- enoic acid) is

represented as

D. None of these

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_octsa13beRkk

30. In the dichlorination reaction of propane a

mixture of various products are obtained .

How isomers does the mixture contain?

A2

B.3

C.4

D.5

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_gtEXe727WVmS




